EARAROBREBRT —5 XN—ZXBISH—F 20226612848 (B) 7EKIR4E

(W Eees SR C 11— HS5%—g | | iEwEl - | 9 00 B
[AE%E) 1 & :400,000F ~ 23%&:140,000 9  337%:80,000MH  43%&:40,000H  53&:20,000H
& RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
“— N ROB— : -10-4- - HNEEE (KR)
1 BB D, # o6 | BO 1.(4_4).8 10-10-4-3 | 38.6 5 21347) nios 7
RiIvIFIRrv s B:F75 fAERIY K
» W LUIZSESE, :45. -6-4- . - BESE (BRRE)
) LAi—RoIbY w3 6D a7 I AR PG e
R:T—ILRI—-R B:RTvF—Ja— RIS 1ELE
— EtaIRE : -1-1- - REEFR (KR
3 —340O i 4 e 1(74?:)2 1-1-1-1 | 40.2 1 (ﬁ; Ens (KiR)
R E=XO—F— B:ENOVISAT A KE
N sakh . . — BEEE (B%R)
4 TILZ=IL v 5| BE 1.6115).4 5-5-6-6 | 39.7 7 21_321) I
R:O0—RAFO7 BYYRIIVa (B) t&I—-RU—y3vEET 7
KHFIE : -11-10- - FEE= (B
N Ry o | 5 s [osfms] - e | e [wes @
RIN—EVIv— BFRIAMPAR=Z T s
s $e BARA : -3-2- - TEHZ (KR)
68l XAvanvraey R R A IR O TS
RFUN—T BEIFI—XAR *3EHEMRUS
<, s BAE : -9-7- - =tefl (KR
71719 YURT4v2a "4 %50 a%% ye77 |98 ’ ﬁg Eﬁ%£7)
Ribh—tYS— #B:70-3)bk—b tH 8
=T ER :46. -2-2- . - MEE (KR
" 6|l 7OvysyF— # o4 | BE 1 (4263 5 2-2-2-4 | 41.3 4 (1_1?;) E?ktg
R:Ja—hnrF—/ &:0N-7 AEHS
N o oL = I\MzE : -6-7- - SHE (KR)
917l g|T—T—/NrS5— 3| I 1.&7).1 7-6-7-8 | 40.8 6 (5+075) =0 g
RXAVIVR—F— B:XAV3DFIY BiE E=
‘< S FlRE : -8-10~ - BESEE (BRRE)
10l8l10l AIVU—LAY 4 | EBR 1.216%.0 8-8-10-11 | 41.4 9 :1_4;) Rl
RiF4—=FTUSYF BINTIYTPIYRFP—R F—L— - I\ - T7—LERR
o1l e SAR .48. -4-9- 6] - =B/EE KR
11111 XYUSAHTFO Ho4 E:E).O (11438/43 4910 42.6 i (‘?23) E%EEES )
R€y/0704 B:OVS—H—o)b wo =
@ 1—F—&RIEL
13—7F— 5,6,11,1,4,2,8,10,9,7,3
20—F— 5,6,11,1,4,(2,8),10,9,7,3
Ial=zr= 5,(6,11),(2,7) ,4,(8,9),1, (3,10)
40—F+— 5,11,7,6,2,4,9,8,3,1,10
o ILRE
BB 7 850 | [ DA K 2-7 590M e B 2-6 1,540 3EE 2-5-7 2,550
B B 7 240 5-7 570 5 & 2-7 2,140 3EH 7= 35,8504
2 1909 2-5 540 B8 7-2 3,890
5 160M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



